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Consider the following paragraphs: 
  
 But perhaps more significantly, the War was not resolved by the conflict of the  

active participants.  Even the events at Petersburg were not a definite influence on  
the outcome. 

 
 But perhaps more significantly, the war was not resolved by any actual battles  

fought by the tired armies in the field.  Even the North’s bloody victory at  
Petersburg could not force the surrender of Lee’s depleted forces. 

 
Which paragraph is more interesting?  Why?  The second paragraph is more interesting 



        


